
 

Report of Quiz 7 
 

1. Summary 
 

 Number of Students 

Total 136 

Attended 103 

Missed 33 

Makeup 0 
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2. Comments 
1) Some students used Bernoulli equation  

2) Some students did not take the force caused by the pressure at section 1 into 

consideration (missing P1A1) 

7.0 

8.1 

7.2 
6.6 

9 

7 

2.0 

1.1 1 

2.6 

1.6 
2.3 

0.0

1.0

2.0

3.0

4.0

5.0

6.0

7.0

8.0

9.0

10.0

2014 2013 2012 2010 2009 2008

Quiz 7 comparison with previous years 
 

Average

Stdev

7.0 

8.2 
7.5 

6.6 

7.4 

6.6 

5.1 

2.0 
1.4 

1.9 

2.8 
2.2 

1.9 
2.5 

0.0

1.0

2.0

3.0

4.0

5.0

6.0

7.0

8.0

9.0

Q7 Q6 Q5 Q4 Q3 Q2 Q1

Comparison of Quizzes 2014 

Average

Stdev

2 
 



 

3) Some students ignored the angle of 40 degree at section 2  (missing Cos 40) 

when developing the force balance equation in x-direction 

4) Most student did not use the correct sign of the x-component velocity in 

section2  
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